ADRC Series

Compact dual rod cylinder
Bore size : 96, @10, @16, @20, @25, @32

@ Built-in magnet

@ Non-rotating by dual rod, and twice as output.
® Oject can be mounted on 3 sides.

® Adjustable stroke (0 ~ -5mm))

Symbol

Double acting / Single rod

=

How to Order

ADRC M 10 P — 50
1] 4] o
[1] ADRC Series [6] Auto switch

3% Built-in magnet Blank : None

8 . W8H/V : Reed switch

% Secondary battery type available (horizontal/vertical)

WOH/V : Solid state switch
(horizonal/vertical)

i WOHN : Solid state(NPN,3wires)
Bearing type WVP : Solid state((PNP,S wires§
. . W10V : Solid state (vertical)
M: Slide bearing W20H : Solid state (vertical, 2wires(2 color display)
L : Ball bearing % Please add L for 3m lead wire ex) W8HL
. % Standard lead wire is 1m
Bore size
06 :6mm Number of switches
10 : 10mm Blank : 2 pcs
16 : 16mm S :1pc
20 : 20mm n :npcs
25 :25mm
32 :32mm
[4] Piping

Blank : Standard (@6 ~ @32)
P : Axial direction (@6 ,@210)

% Axial type is not available with ©16~32.

[5] Stroke (mm)
@6 : 10, 20, 30, 40, 50
@10 : 10, 20, 30, 40, 50, 75 (80, 90, 100)
@16 : 10, 20, 30, 40, 50, 75, 100 (110, 120, 125, 150)
@20 : 10, 20, 30, 40, 50, 75, 100 (110, 120, 125, 150)
@25 : 10, 20, 30, 40, 50, 75, 100 (110, 120, 125, 150)
@32 : 10, 20, 30, 40, 50, 75, 100 (110, 120, 125, 150, 175)
% Contact us for other strokes.
% Strokes in parenthesis are long stroke types, and

please contact us for availability.

548




Compact dual rod cylinder ADRC Series

Specifications
B Precautions for mounting | Bore(mm) 6 | 10 | 1 | 20 | 25 | a2
e The cylinder must be mounted on Type Compressed air (Non-lube)
flat surface with flatness 0.05 or less. Acting Double acting, Single rod
- If itis not flat, it may cause s Air
malfunction or lack of accuracy when Proof pressure 1.05MPa (10.7kg/cm?)
piston rod is operated. ® An object must Max. operating pressure 0.7MPa
b.e mounte_d 9" the cylinder when the Min. operating pressure 0.15MPa ‘ 0.10MPa ‘ 0.05MPa
piston rod is in the retracted(reverse) - - -
state. - If the sliding part of the piston Ambiend and fluid Without auto switch : -10°C~60°C (No freezing)
rod is damaged or hit, the bearing and temperature With auto switch : -10°C~60°C (No freezing)
packing may be damaged, resulting in Cushion Rubber cushion at both side
malfunction and air leakage. Top(thread) 7
Mounting Side (Through hole) Side (Through hole)
Piston speed 30~400mm/s 30~400mm/s 30~600mm/s

. — Allowable kinectic energy] 0.016J | 0.064J | 0.095J | 0.147J | 0270 | 032
B Precautions for piping |

o The air inlet is located at the top of the Standard stroke

cylinder, and if necessary, use an axial

pipe (26,10 only). Bore (mm) Standard stroke(mm) Range of available stroke
- For axial piping type, a plug is attached to o6 10, 20, 30, 40, 50 -

the upper port, and the location of the plug 210 10, 20, 30, 40, 50, 75 80, 90, 100

can be changed according to the usage 216 10, 20, 30, 40, 50, 75, 100 110, 120, 125, 150
situation. However, after changing, check if 020 10, 20, 30, 40, 50, 75, 100|110, 120, 125, 150

air leakage in the plug part. When a small

amount of |eakage remains‘ remove the 25 10, 20, 30, 40, 50, 75, 100 110, 120, 125, 150

plug and check the seat surface before 932 10, 20, 30, 40, 50, 75, 100 110, 120, 125, 150, 175

reassembling_. . Noteg Please contact us other than standard strokes.
- When changing position of a plug for the Note) Stroke 0~-5mm can be adjusted with front adjusting bolt.(+ adjustment is not available)
axial piping type, do not disassemble parts

other than the plug. Disassembling the end 7
plate on the head side may make it Theoretical force

impossible to operate.

Type Rod Piston Pressure(MPa)
[Operatio
B Precautions for adjusting stroke| Series [Bearing Bore | (M) | (ﬁ]rf% 005 | 01 |015| 02 | 03 | 04 | 05 | 06 | 07
e ) M OUT [ 565 | - | - | 85 | 113 | 170 | 226 | 283 | 339 | 396
o After adjusting the stroke, tighten ADRCI— ™1 6 | 4 N [ 814 - | - [ 47 [ 63 | 94 | 126 | 157 | 188 | 220
the hexagon nut well to prevent aorol M| 1o | ¢ [OUT [d671] - - | 236 [ 314 | 471 | 628 | 785 | 942 [ 1100
loosening L IN_[1005] - | - | 151 | 201 | 302 | 402 | 503 | 603 | 704
aorelM_| 1 | g |OUT[4021| - | 402 | 603 | 804 | 1206 | 1608 | 201.1 | 2413 | 2615
- If the adjustment bolt is loosened by L IN [301.6] - | 302|452 | 603 | 905 | 1206 | 1508 | 181.0 | 211.1
more than -5mm, the fixing part of the ADRG M 50 | 10 OUT | 6283 | 314 | 628 | 94.2 | 1257 | 1885 | 251.3 | 314.2 | 377.0 | 439.8
stroke adjustment bolt may be damaged. L IN | 4712 236 | 47.1 | 707 | 942 | 1414 | 1835 | 2356 | 282.7 | 329.9
M OUT | 981.7 | 491 | 982 | 1473 | 196.3 | 2945 | 392.7 | 4909 | 569.0 | 687.2
e é\_le\;er ’eTb‘;‘;f;hf stroke Al ADRCI——] 25 | 12 I\ [7s56| 378 | 756 | 1133 | 151.1 | 2267 | 3022 | 377.8 | 4633 | 5289
aajustment boit berore use. AIso, apRo M| o5 | 4o [OUT 16085 804 | 1608] 2413 | G217 | 4625 | 6434 8042 | 965111269
after removing only the nut, do not L IN_[1206.4] 60.3 | 1206 | 181.0 | 241.3 | 361.9 | 4825 [ 6032 | 7238 | 844.5
tighten the stroke adjustment bolt
alone.

- If the stroke adjustment bolt is removed, Weight (g)

the cylinder touching the head cover of

the piston may be damaged or the piston tem Bore Stroke (mm)
ng:',g?kmay go over the pipe and may Series |Bearng| @ | 10 | 20 | 30 | 40 | 5 | 75 | 100 | Additional 10st
' M 06 58 68 78 88 98 - -
ADRC || 06 | 59 [ 69 | 79 | 89 | % - - 10
- If the nut is removed, the stroke Vi 10 % 18 3 . 5 20 -
adjustment bolt cannot be fixed, so there ADRC L 10 o7 m o7 0 15 o1 - 159
is a risk that the bolt may come loose
during operation ADRC M 16 206 227 247 268 289 341 393 2g
: L 16 187 208 228 249 270 322 374
ADRC M 20 362 383 413 444 475 562 629 3
L 20 333 364 394 425 456 523 600 ¢
M 25 544 586 628 670 12 817 922
ADRC ™\ T o5 [ 5 | 55 | 617 | 659 | 701 | a06 | oif ‘9
M 32 17 1225 | 1280 | 1334 | 1389 | 1526 | 1662
MG L 32 1160 | 1214 | 1269 | 1323 | 1378 | 1515 | 1651 %

549
www. TPCpage.co.kr




ADRC Series

Operation condition

Maximum allowable load
3.0
The maximum allowable load will be lower AN
. N
than the values shown in the graph below \\
. . N\
when the cylinder is mounted as shown 25 \\
below. S >
~ Sy
; 2.0 N,
N
w g \\
o s I
SN AN NS
L N ~
E S \“\ ‘\s
% E o RS I~ <><[o3:2
g ~ ~\\\ S~
§ F~~al \\ “~-~_ St-~"‘ =5
ADRCM TYPE = ——8 —— os o ; e
_ o T~ Te~eloo 220
ADROLTYPE =---------- R Pt S Rt P e v
F==<~==J==c =) ‘I—-...I v 216
0.0 26
0102030405060708090100
Stroke (mm)

Non-rotating accuracy Accuracy(PLATE)
Bore (0) 6 [10]16[20]25]32
. i , T ADRCM
Standards c:f non-rotating H—@ @ £0.1° or less
accuracy 8 ° are values lower ADRCL
than those shown in the table
below.
Inclination of plate end e
The standard amount of inclination X of the plate end o
with no load applied is shown in the graph. 010 (== ==
‘ X - —"— / IE'
mmn —‘—’— //
0.05 ———’/
- - —
—_— %
0.00
4 § E— ° 2 0 0 8 S(roke(rrluono)
How to use bold holer e For @6 and @10, a bolt holder structure with
o . variable bolt fixing is applied to prevent auto switch
(96’1 0 - Side mountmg) interference during side installation, and pay attention

to the following

- Please adjust the bolt holder with a 3.5mm side
hexagon wrench (opposite screw) so that the bolt
holder enters less than about 0.5 from the installation
surface.

- If the bolt holder interferes with the auto switch rail
after mounting, adjust the bolt holder position to
prevent interference.

- When using the upper tap for mounting cylinder,

DT

d

v remove the bolt holder and store it separately or
ErOd S prevent loosening. There is a possibility that the bolt
== holder may come off during operation.
Bore (@) | T1 T2 T3 Installation bolt
13 ADRCOO06 | 84 | 5.0 0.5 orless M3
EHH 5 A o ADRCO10 | 9.5 | 55 | 1.0o0rless M3
o

550




Compact dual rod cylinder ADRC Series

Structure / Parts list [ ©6, 10 standard piping]

=N
9339399@

B
NAE

Q&

2

@) 00539 //

\

lofololclo
7

NN

O

Sleoololofoelolofe
% /) I

[

NS
=N

Slide bearing (ADRCM10)

%77

Ball bearing (ADRCL10)

NO. Item Material Remark NO. Item Material Remark
1 . 12 SNAP RING Carbon steel
— ROD COVER Aluminum alloy
1-1 13 MAGNET -
2 SNAP RING Carbon steel 14 BOLT HOLDER Stainless steel
3 ROD PACKING Urethane 15 BUMPER HOLDER Carbon steel
4 O-ring NBR 16 HOLDER BUMPER Urethane
5 PISTON ROD-A (Slide) . 17 Hexagonal nut Carbon steel
- Stainless steel -
6 PISTON ROD-B (Slide) 18 PLATE Aluminum alloy
&=l PISTON ROD-A (Ball) . 19 CYLINDER TUBE Aluminum alloy
Bearing steel
6-1 PISTON ROD-B (Ball) 20 Hex wrench bolt Carbon steel
7 BUMPER Urethane 21 Flat headed bolt Carbon steel
8 PISTON Aluminum alloy* 22 Magnet seat Aluminum alloy*
9 PISTON PACKING NBR 23 Ball bushing -
10 HEAD COVER Aluminum alloy 24 Bearing retainer Aluminum alloy
11 GASKET NBR *) Stainless steel for @6

551

www. TPCpage.co.kr



ADRC Series

Structure / Parts list [ ©16,20,25,32 standard piping]

REYP P @??@ﬁ
M‘\/

Qo
2P @9’@
f?D

-

=m-;' I'”’ 2

“_\
—‘.uIIIi 1,

Slide bearing Ball bush
NO. ltem Material Remark NO. Item Material Remark
1 ROD COVER (Slide) Aluminum alloy 11 HEAD COVER Aluminum alloy
1-1 ROD COVER (Ball) Aluminum alloy 12 TUBE GASKET NBR
2 SNAP RING Carbon steel 13 SNAP RING Carbon steel
3 ROD PACKING Urethane 14 MAGNET
4 TUBE GASKET NBR 15 Ball bush
5 PISTON ROD-A (Slide) Stainless steel* 16 BUMPER HOLDER Carbon steel
6 PISTON ROD-B (Slide) Stainless steel* 17 BUMPER Urethane
5-1 PISTON ROD-A (Ball) Bearing steel 18 Hexagonal nut(2 types) Carbon steel
6-1 PISTON ROD-B (Ball) Bearing steel 19 PLATE Aluminum alloy
7 BUMPER A Urethane 20 CYLINDER TUBE Aluminum alloy
8 BEARING STOPPER Aluminum alloy 21 | Hexagonal bolt(fixed to rod) Carbon steel
9 PISTON Aluminum alloy 22 Flat headed bolt Stainless steel
10 PISTON PACKING NBR *Carbon steel for $32

5562




Compact dual rod cylinder ADRC Series
Structure / Parts list [ @6, 10 axial piping]

J

®

—©

[
S

[

NO. Item Material Remark

1 Steel Ball Stainless steel

2 Port plug Carbon steel

3 HEAD COVER Aluminum alloy

4 TUBE GASKET NBR

5 END PLATE Aluminum alloy

6 O-ring NBR

7 Steel Ball Stainless steel

8 Steel Ball Stainless steel

How to order 2B Series

2B — ADRCM 10 P — 50 —(W8H )S)
B @ s (8 =

[1]2B series

2B : Secondary battery Piping
Industry type
[6] Stroke(mm)
Auto switch
ADRC Series 7
Number of
switches
Bearing
(4] Bore size

553

www. TPCpage.co.kr



ADRC Series

Dimensions / (06~010) standard / axial piping

<Standard piping>

PA PB
= D &
_— { - S g
e} 3
e PDsStoke 2x2-PT (Auz;:r')
AA+Stroke
3 FA AB+Stroke
2-TU FB E EA+Stroke
(PLATE THRU)
2-TE THRU
() @ (35) é 1 % ;
Ja L4 8 s = === %@@‘;
| —] \ \\\ ‘: fsz ‘
@D 1 — \\\ ke D ) 1
L \
= o) \
W \
s OO
\\ DEE
<Axial piping> F D © ; l
D 28
PC PD+Stroke 2x2-PT
AC+Stroke
D F FA AB+Stroke AD
2-TU C FB E EA+Stroke CcP
(PLATE THRU) 2-TE_THRU
—t— 2-pP
) N, U @ @ = (Air Port)
() @ T (35 j?i
4 @ g g = | 654 e t
\
© o
A=\ o I \‘\ S 2
L8 ©
7 \\ DEE
A B C D TA TU AA AB F FA FB E EA TE
26 32 31 1 13.4 25 M3x0.5 42 32 5.5 4.5 2.75 12 5 M3x0.5
@10 42 40 13 15 33 M4x0.7 56 44.5 8 3.5 4 16 8 M3x0.5
PA PB PC PD PT PR P EE
26 20.5 5.5 10 9 M3x0.5 DP3.5 8 M3x0.5 DP3 ©3.4 THRU / 2-C/B ©6.5 DP5 (¥H)
@10 28.5 8 16 12 M3x0.5 DP4.5 8 M5x0.8 DP4 ©3.4 THRU / 2-C/B @6.5 DP5.5 (ZH)
<Axial piping>
AC AD AP CP PP
26 49 7 31.4 12.8 M3x0.5 DP3
@10 64.5 8.5 41.4 14.4 M5x0.8 DP4

554




Compact dual rod cylindker ADRC Series
Dimensions / (016~032) standard piping

2-P
(Air Port)

Sl ey @
G 7
PA ]
AA+Stroke
D F FA AB+Stroke
- [} FB E EA
2x2-TE (%P
N
R
J
Ol e
B N 7 S 72\
a = b G D
N & 11
\‘J
2V 2-1C
Al B ] c[Dp]m U M [ a8 [ F [r [ B[ E TE
@16 | 54 | 52 | 17 | 19 | 42 | M5x08BS | 70 | 575 | 10 [ 25 | 5 | 20 [ M4x0.7DPe
@20 | 62 | 60 | 22 | 24 | 50 | M5x08ES | 84 | 67.5 | 12 | 45 | 6 | 25 | M4x0.7DP6
@25 | 73 | 71 | 27 | 20 | 60 | Mext.0E | 87 | 705 | 12 | 45 | 6 | 30 | M5x0.8DP7.5
@32 | 94 | 9 | 3 | a7 | 75 | Mext.0®E [1005] 805 | 16 | 4 | 8 | 30 | M5x0.8DP7.5
TC PA | PB P
016 | ©43Thu, 2x2-08C/BDP43(%) | 38 | 9 M8x0.8 DP5
020 | 055Thru, 2x2-09.5C/BDP5.4 (%) | 45 | 9 M8x0.8 DP5
@25 | ©6.5Thu, 2x2-011 C/BDP63 (&) | 46 | 9 M6x0.8 DP5
@32 | 065Thu, 2x2-011C/BDPE3 () | 56 | 10 RT(Ro) 1/8 DP6.5
Stroke EA
Bore 10 [ 20 [ 30 [ 40 [ 50 [ 75 | 100
16 25 35 45 | 55
920 30 40 60
@25 30 40 60
032 40 50 70

555
www. TPCpage.co.kr






